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Consider the following statements regarding FASTER:
1. It was launched in 2021 by the Supreme Court.

2. It was created for transmission of e-authenticated copies of the Judgements/ﬁna1 rs/interim
orders to the concerned court/tribunals for due compliance. #
3. It aimed at cutting the delay in transmission of the orders passed by the court and consequent delay
in the relcasc of the undcrtrial persons, accused person and convicts.
4, It stands for Fast and Safe Transmission of Electronic Records.
Which of the options given above is/are incorrect ?

(A) 1and?2only (B) 2and 3 only
(C) 3 and4 only (D) 1 and4 only
(E)  Question not attempted

foreieriad wei o FASTER & uftied o femme =i
1. 3@ gaied R g 2021 ¥ d@i-a feear m&n
2. sﬂaﬁﬁﬁisﬁwﬁﬁ?ﬂ?ﬁ/mﬁﬁmﬁsﬁ/maﬁqarﬁ'

Ew%iﬁa?r%arv@rﬁ@raﬁﬂ —a1 Torhed a8 TR & 7
(A) o 132
(C) haw 3 3fT4

(B) oraia ued

Consider the following statements:
1. Loan Guarantee Scheme for Covrd aﬂ’ected sectors (LGSCAS) with a Corpus of Rs. 2,000 crore

projects under health care sect ‘
2. The scheme provides credit guaranitge of, 50 percent to all greenfield projects and 75 percent to all
brownfield projects to be set-up.at thiicentres other than metropolitan cities.

3. For aspirational districts, the guarantee cover will be 50 percent for both brownfield expansion &
greenfield projects. 5 ;
4, For aspirational distri $the gitdfantee cover will be 75 percent for both brownfield expansion &

greenfield projects ;
Which of the statements grven
(A) 1and?2only
(C) 3 and4 only
(E) Question not at Mmptes

1. WQ%H,%WWWW(LGSCAS)NMI#2000?&%6@%@%&%58121@@
Wﬁ%ﬁﬂﬁwﬁ%hwﬁaﬁmﬁaﬁww@wm%ﬁm%@mﬁ o

JOVE Jare correct?
’ (B) 2 and 3 only
(D) 1 and4 only

"wﬁaﬁwaﬁﬁ@ra?l?@raawﬁ%?
) A 182 (B) ad 2 &l 3
(C) %o 334 (D) ¥aw 13T 4

(B) oraia ued
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3 Agnipath scheme is a recruitment scheme for youth to serve in the armed forces. Which of the following
holds true for “Agniveers”, the youth selected under the scheme ?

L. Agniveers will be given an attractive customized monthly package alongwith#11
allowances as applicable in the three services. I

2. On completion of their engagement period of five years, they will be paid one tlme non contrlbutory
Scva Nidhi Package. %

3. Seva Nidhi Package is exempt from income tax.

4, Agniveers will be provided non contributory Life Insurance Cover of R

of their engagement period in the Indian Armed Forces.
Which of the statements given above is/are correct?
(A) 1and?2only (B) 2and 3 only
(C) 1and3 only (D) 3 and4 only
(E)  Question not attempted

AT IS A9 Tl H Gl 3 % g Tagael & g T it ABHET 3| AT % SrTd TaTd Tagah
‘ot % g frefRea ¥ a9 AR Y o A ¥ 7
1. SRTER &t A waet ® @r SiRew ot ‘wfes’ ﬂfr%s.,wa@mquﬁmﬁﬁmﬁmwl
2. w9y @ oTafy qul BN WY, S U% oo TR-Hereh Han M e @1 e fea st
3. oan Y YRt oEeT & Ha BRT
4 Wﬁﬂﬁﬁﬁ&ﬁﬁﬁwﬁﬁgﬁﬁﬁm%ﬁms 24 1 & IS el St S

Ha{ T S|
SUFT B H Y B H HAT TE & 7
(A) had 13iT2
(C) waw 133

(B) oraia ued

4 Electronic Voting Machine (EVMs) and Voger. Verifiaple Paper Audit Trail (VVPAT) are being used by the
Election Commission of India to conduct Electjons to the Parliamentary & Assembly Constituencies. Now
consider the following statements : :

1. EVMs were first used on pilet-hasis i Thrissur Assembly Constituency of Kerala.
2. EVMs are manufactured by Eleétronics Corporation of India Limited and Bharat Electronics
Limited. i
3. VVPATSs were used firgt'in by electlons for Khonsa Assembly Constituency of Arunachal Pradesh.
4. VVPAT is an additional unit agtached to the EVM, which prints a slip of paper that carries only the
serial number and,sym hol ofithe candidate Voted.
Which of the statements gy hove is/are not true?
(A) 1and2 only . (B) 3 and 4 only
(C) 1,3 and4 only (D) 1,2 and 4 only
(E) Questlon not

CIEGIPRCEIE] W.mw‘cﬁﬁaﬁﬁrwmaﬁsh%smﬁsﬁ@ﬁmaﬁwmﬂﬂ(EVMs)aﬂTEﬁ'a
WWWW(WPAT)WWWW%%%@HmWWWWY

mawﬁ%’ﬁrzsﬁm%l
i ,,..fnqa:eﬁrﬁ@raﬁ-rr —¥ YT el TRl ¥ ?

(B) had 3 3iT4
(D) haw 1,2 34

1421 0 3 P.T.O.



5 Consider the following statements:
1. Statistics day is celebrated every year on 29th July.

2. National Statistical Commission was set up in 2004, P
3. The base year of Consumer Price Index (Rural) is same as that of Consumer Price Inw % (Urban)
1e. 2012 = 100. )
Which of the above statements is/are false?
(A) 1and?2only (B) 2and 3 only
(C) 2only (D) 3 only
(E)  Question not attempted
FrfaRaa semf 9 faame @it

1. T A9 29 R & Qi fEad FAET S § |
2. TS i ST Sl AT 2004 / &l T3 &)
3. T g % T SuwieRT T gawie &1 ot Iy ff §
SUFT HIA! H  BIF /A BT Teld /2 7
(A) had 13iT2
(C) waw 2
(B) oraia ued

6 Match the following schemes/portal of the Gove :
(1)  Meri Fasal, Mera Byora Portal i To free farmers from the
risk of weather uncertainties
(b) Canals

(¢) To prevent arbitrariness of seed sellers.

(i) Uttam Seed Portal
(iii) Mukhyamantri Bagwani Bid Yoj
(iv) Real Time Data Acquisiti (d) Allow farmers to sell their crops and
provide financial assistance for
fertilizers, seeds, loans and agricultural
equipment from their homes.

(a) em B crffeerar & sifaw &
foREml @l g T@
(b) &
(c) et Teharen @ 79T Wb & o
(d) REm! @ ST B W SO HEal B ST
f < ford ferciia weraat war &
1¢ correct option from the following options given below :

: (B)  ®-(b). (i)-(c), (1)-(d), (iv)-(a)
©)  ®-(0), (-(d), (ii)~(a), (1v)-(b) D) ®-d). ()-(c), (iD)~(a), (1v)-(b)
(E)  Question not attempted / Bﬂ?lﬁ_d LES
1421 0 4 P.T.O.



7

Match the following schemes/yojnas of Government of Haryana :

(1)  Khet Khali Phir Bhi Khushali (@) To make livestock owners risk free

(i) Mera Pani Meri Virasat (b) To make farmers free from risk at i
time of a fall in the prices of frults'
vegetables

(ii1) Bhavantar Bharpai Yojna (¢) To encourage farmers to E
paddy to alternative 1

(iv) Pandit Deendayal Upadhayay (d)
Pashudhan Suraksha Yojna
s ger &t FEfaiaa @m/asEe o e Sk
(i) ©T G T A gae
(i) AT A A R

© ﬁwﬁ,aﬁém@rmﬁawﬁwﬁ
Farl 1 i e e

(i) WA AR AT

(iv) Ufsq SFeA ST qges (d)
& A

Choose the correct option from the following optlons
Fretfaa feredi & & w8t Ferea g
A)  (@)-@), ()-(b), (i)~(c), (iv)-(d)
©)  @)-(d), ()-(c), (1u)-(b), (iv)-(a)
(E)  Question not attempted / Bﬂ?lﬁ_d v

L (-(b), (i)-(c), (i11)-(d), (iv)~(a)
(1)-(d), (i)-(a), (i1)-(b), (iv)-(c)

OPD/IPD Medicines, Refe i::trahsport dental treatment only.
OPD/IPD, dlagnostws labora,tory tests, surgerles only.

bl

Which of the above staté%he §'1s/dire correct?
(A) 1only
<) 3 only
(E)

(B) 2 only
(D) 4 only




9 National Institute of Fashion Technology (NIFT) is associated with which of the following?

1. Project India Size 2. VISION XT

3. COEK 4. CHAMPIONS Portal
Which of the options given above are correct? &
(A) 1and?2only (B) 2 and 3 only (C) 1,2and3only (D) 2,3 and4only

(E) Question not attempted

A9 sheeee o %W Tt (NIFT) Freifafaa & o fead gafaa 3 7

1. vioee shear agw 2. feemXT ,
3. COEK 4.  CHAMPIONS didw
I A fapei f S M Y TRl & 7

(A) Haw 138iX2 (B) aw 2 8fX 3 (C) waw 1,28
(E) orgaid usd
10  Pradhan Mantri Jan Aushadhi Yojna (PMJAY) has been renamed as;”
1. Pradhan Mantri Aushadhi Pariyojna 2. Pradhan #
3. Pradhan Mantri Bhartiya Janaushadhi Pariyojana.
4. Pradhan Mantri Bhartiya Aushadhi Vikas Yojna.
Which of the options given above is correct?
(A) 1 only (B)
(C) 3only
(E)  Question not attempted
G G 59 NS FET (PMIAY) @1 91 9 © ¢
1. wge w sty afaismr
3. WY WA AR St aiErsr
ST o foeedtl ® € @i @1 faeey @1 8 7
(A) a1 (B) a2

(B) oraia ued

11 Which of the following is/are not true reg
SYM) to ensure old age protection for un

1. Each subscriber shall recelve"n’nmmu i assured pen51on of Rs. 2,000 per month after attaining the
age of 55 years.

2. Each subscriber shall re
age of 60 years.

3. During the receipt of:
shall be entitled tg, re

ens1om if the subscriber dies, the dependent members of the beneficiary
elye S¢F percent of the pension recelved by beneficiary, as family pension.

’en abaVe is/are not correct?
(A) 1,2 and3 only (B} 2, 3 and 4 only (C) 1,3and4only (D) 1 and3 only
(E)  Question not a’tt@mpted

Wr%—craﬂmnfr Egg’lﬂwa‘fr e GRfvad ®T7 & ford gurt @ qearn ar-ae dir & wea J

S5 T A 55 o ) &g T B ¥ 1S T 2,000 %, W ATE ghved Y frem)
- FEEIATETS Bl 60 T BT G U 8 & & A9 3,000 T. Uit A8 GHAiyaa dem e
Y9I T ST HEEITEh 1 AT T8 1 S & o et & omfyrd et @, araedf & fra
TE U &1 50 TRIa arieani i U9 % w9 H e

AT ET A @ TS Ui S T9d Wid Aga SHET Wi ¥ @d: GUH-THaE T g # 6T
ﬁ?ﬁ,ﬁw&ﬁ%ﬁwﬁuﬁsﬁswwﬁsaﬂaﬂwsomﬁzoomuﬁﬂﬁwé
el 2|

‘T e & A A A fer al e ¥ 7

(A) Had 1,233 (B) ®Haw 2,384 (C) Haw 1,334 (D) oad 183

(B) oraia ued

1421 0 6 P.T.O.




12 Consider the following statements regarding the MusQan initiative:

1. To reduce preventable mortality and morbidity of children below 12 years of age.

2. All pregnant women and sick infants upto 1 year of age attending public hegith: facilities are
entitled to free services, drugs and consumables as well as diagnostics services; ;

3. To provide child- frlendly services to the new born and children in a hu ane
environment.

4. It is an intensified programme to bring undiluted focus on promotion of byeas
infant & young child feeding practices. ;

Which of the options given above is/are correct?
(A) 1and?2only (B) 2 and 3 only (C) 1and3 only

(E)  Question not attempted
g{%m-vrq;a ﬁﬂ%@ﬂﬂ‘ﬁ'{aﬁ
1zaﬁ@rmwésa—cﬁa?rﬂ?gﬂaﬁﬁaﬁaﬁ1ﬁﬁwaﬁmmj

2. Qe e ghasmstl § @l e Afearel ofik U@ a9 d% &
Yard, Tard quT ST G, SeTie gad Sudsy BT,
3. WA of U8 qarEtel § Taea 3] ofiX e &l
4, sawrdzmaara%mﬁssﬁa—cﬁ%mﬂmw%ﬁw%sﬁ”
AU Bl 3T IMT 1
IuRrer ferepedt o § B9 91 foshed g8 ¥ 7
(A) had 13iT2 (B) had 28X 3
(B) oraia ued

13 Match the following:
(i) Sowa-Rigpa

eeg}}ﬂé and other

ﬁﬁwwww%ﬁ%aamaﬁ?

(D) haw 3 3liX 4

usion of traditional knowledge of

gient civilization like Egypt, Arabia,

:India, Iran, China & Syria.

Health is a pre-requisite for achieving

the goals of life i.c. Dharma, Artha,

Kama and Moksha.

System is evolved based on 96 tools or

principles(Thathuvas) which include physical,

physiologic, psychological and intellectual
aspects of every human being.

(d) The basic theory is explained in terms of the
body & the mind as the locus of treatment;
anti dote; method of treatment through antidote;
medicines that cure the disease; pharmacology.

(B)  (i)-(b). (if)-(c). (ii)(d). (iv)-(a)
(D) ®~(d), (i)-(c), (iiD)~(a), (iv)~(b)

(i) Siddha

(i) Unani
(iv) Ayurveda

Choose the correct option fro
(A (®-(a), ()-(b). (1)
(€)  W-(c), ()~(d), (i1y
(E) Question not attemp

(@) e, o, 9, 3O, 9 o) g o
RN GeIdT % TICRTd S ol S|

(b) Gﬁaﬂésaaa‘fﬁ@rﬁwﬁ, ared | B ST we
T H{A & [T Wed Usdl! STedd o)
(c) %596wwm%@?ﬁwanmﬁ—cr

%l
yonalr forem @t asa % e, frares,
AT 3R g Uee] ardfad o |
(d) R iR femm saret & & faig 3 diieie
ST gelrol; GE=TE o ST Serst 1 qih;

I 1 TR & arell S Siufr qen
aftwe ferst e fieia §1

(By(i)- i (B)  (i)-(b), (ii)-(c), (iii)-(d), (iv)-(a)

©) (), (11) (d), (iii)-(a), (iv)-(b) D)  @-(d), (i)-(c), (ii)-(a), (iv)-(b)

(B) oraia 9
1421 0 7 P.T.O.



14  Match the following:
(i) SARTHAQ (@) Developed to aid Divyang students.
(i) DIKSHA (b) : T

(i) PRABANDH (c)

Advancement through qua
(iv) TALKING BOOKS (d) e-learning expanded throfi‘gh
infrastructure for knowl@,gge s
Choose the correct option : e
(A)  ®-(), ()-(b), (ii1)-(c), (iv)-(d) (B)
©)  ®-(0), (-(d), (1D)-(b), (iv)-(a) D)
(E)  Question not attempted

Fr=fafag &1 fram S
(i) wd®w
(i) e

(i) "

(iv) ifehT g i, AT o fordl Sifvteat smemea
- HEEES T ¥ A faan

& g gimn
(A)  ()-(), (i)-(b), (iiD)~(c), (iv)-(d) & (B)
(©)  ()-(c), (i)~(d), (iiD)-(b), (iv)-(a) '
(B) oraia ued

15 PM SHRI Schools have the following fegt
Itis a centrally sponsored sche

(b). (ii)-(0). (iii)<(d). (iv)-(a)
1)-(d), (i)-(a), (ii1)-(b), (iv)-(c)

nder which more than 15000 school will be qualitatively

98]

Which of the options givefi above 's/are correct?
(A) 1,2 and3 only
(C) 1,3 and 4 only

(B) 2,3 and4 only
(D) 1,2 and 4 only

(E) Questlon not ttempted

" FAHE TIHT 2T WS AT, el § @ P B A B GOw o et b1 R R s
er{/w/%ﬁ: QI u%sT BT AIebral/Bard/TTaIed g Usad I &hell o §

(B) haw 2,3 34
(D) haw 1,234

8 P.T.O.



16  Match the following:
(1)  Yukti-Yogya Kalakriti ki Takneek (a) A scheme of AICTE, aimed at prov1d1ng
assistance for advancement of gi

part1c1pat10n in technical educétiod.

(i) SAKSHAM (b)

those engaged in traditienal crafs and arts
as a means of hvehhgod
Scholarship scheme fi

(ii1) Ishan Uday (©)

(iv) Pragati (d)
Choose the correct option :
(A)  ®-(), ()-(b), (ii1)-(c), (iv)-(d) (B)
©)  ®-(0), (-(d), (1D)-(b), (iv)-(a) D)
(E)  Question not attempted
Frerferfad @1 frem R
(i) g BB Al Tbirn (@)
(i) @™ (b)"’ TAtE ¥ TXIXRTA Bl BT 8
~ g% i @ o sty 7 g ¥
N i M
(iii) 9T 3 feegi s=af &g sEgha A
(iv) Wt ) qara & % B % o fas seeR e
& g gimn

(A)  ()-(), (i)-(b), (iii)-(c), (iv)-(d)
(©)  ()-(c), (i)-(d), (iii)-(b), (iv)-(a)
(E) eﬂ@ﬂﬁ—d RG]

(1)-(b), (i)-(c), (i11)-(d), (iv)~(a)
(D)-(d), (i1)-(a), (ii1)-(b), (iv)-(c)

17

List I List 11
1. Bagar a.  Parts of Hisar, Bhiwani and Sirsa
2. Bet b. Flood plains of Markanda
3. Nali ¢. Flood plains of Ghaggar
4. Khadar d.  Flood plains of Yamuna
5. Bangar e. Old alluvial plains

(A) -, 2-b, 3¢, dre, 5-d,
) 1-a, 2_b 3 i, 45 Yosed
(E)

(B) 1-b,2-a, 3-c, 4-d, 5-¢
(D) 1-b,2d, 3-¢, 4-a, 5¢

T I

e, far wa Rrean & 9w
U] & q1G &b AN

TR & 16 & §3M
AT % 916 % HaM

I HBT AT
a, 2-b, 3-c, 4-¢, 5-d 1-b, 2-a, 3-c, 4-d, 5-¢
(C)  1-a, 2-b, 3-c, 4-d, 5-¢ (D) 1-b, 2-d, 3¢, 4-a, 5-c

(B) oraia ued

1421 0 9 P.T.O.
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Match List I with List IT and choose the correct option :
List I List 11

a. QGujri mahal 1.  Kurukshetra
b. Seikh Chilli’s tomb 2. Mahendragarh
¢. Choron ki Baoli 3. Hisar
d. Jal Mahal 4. Rohtak
(A) a-1,b-2,¢-3,d4 (B) a-2,b-3,c-4,d-1
(C) a-3,b-1,¢4,d-2 (D) a-4,b-1,¢-2,d-3

(E)  Question not attempted

Al o g2t 114 fram &Y qen a2 faeea &1 92 &%
Tl

a. ﬂﬁ'& 3 1.

b. 9@ fael &1 AHIU 2.

c. T B Frae 3,

d. =« 7Ed 4 i3
(A) a-1,b-2,¢-3,d-4 (B, a-2, B3, -4, d-1
(C) a-3,b-1, c-4, d-2 D) ' a-4.b-1, c-2,d-3
(B) oraia ued

Given below are the administrative Divisions of Ha fia along with the districts it includes

Administrative division trict; included

a. Hisar iz,isa;r, Fatchabad, Jind, Bhiwani, Sirsa

b. Rohtak hajjar, Sonipat, Bhiwani, Charkhi Dadri, Rohtak
c¢. Karnal anipat, Karnal, Kurukshetra, Kaithal

d. Ambala Ambala, Kurukshetra, Panchkula, Yamunanagar

Which of the above Administr?
(A) aandb only
(C) candd only
(E)  Question not afteinpted™
ST % et ge o kT e R R Ry
TIEHE ©3 T e

ASIEL SR, HHaT, TEetl, AT

BT WIMES Wl &l e a8 & 7

'ggz’sions are correctly matched?
(B) bandconly
(D) banddonly

(B) %ha@ baiR ¢
(D) haw bsiRd

1421 0 10 P.T.O.
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Read the following statements about Yadavindra Garden Pinjore, Panchkula and choose the correct options:
L. It was built by Nawab Fidai Khan in the 15 century.
2. The garden is an example of Mughal garden style .

3. It was renovated by the rulers of princely state of Patiala.
(A) Only1and?2 (B) Only2and3
(C) Only1land3 (D) Only?2

(E)  Question not attempted
Ao T RS, g 3 A & Pt el 1 0 e wdl foed o
1. 159 9&1 o 39 Fae e @+ Saran o)

2. T MET YA MET Sl BT TH I ¥ |

3. e R T 3 o T 5 2T e
(A) e 18X 2 ®) %
(C) e 183
(B)  orfaid v

Match the following as per popular belie
1. City of five canals (a) Kaithal
(b) Panchkula

(¢) Bhiwani

2. City named after wife of Ngw

3. City in Arabic meaning Eg»

4. City named after a plage of mcgnkeys (d) Hisar
Choose the correct optio !

(A) l-a, 2-b,3-c,4-d b,2-c,3-d,4-a (C) l-c,2-d.3-a,4-b (D) 1-d, 2-a,3-b,4-c

(E)  Question not gttempted

(a) Hud
(b) =
(c) fhari
(d) RErR

-a,2-b,3c.,4-d (B) 1-b, 2-c 3-d 4a (C) l-c 2-d3-a4b (D) I-d, 2-a 3-b,4c

1421 0 11 P.T.O.
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Match column I and column II & choose the correct option in context of Haryana:

Column 1 Column II
1. Khoria (a) tourist complex
2. Manjira (b) sweet dish
3. Surkhab (c) dance form
4. Churma (d) musical instrument

Choose the correct option : .
(A) l-a,2b,3c4d (B) 1-c2-d3-a4b (C) 1-b,2-c, 3-d, 4 D) 1-d, 2-a, 3-b, 4
(E)  Question not attempted N 4

AT 17 B I e R e ) R 1 R b e ¥ e

e
1. @
2. WS
3. gRE™
4. gt
& famed @l grE

(A) l-a,2-b, 3, 4-d (B) Il-c, 2-d, 3-a,

(B) oraia ued

Given below is a list of districts along With, other district’s touching its boundaries :
1. Jind . Hisar, Kaith,
2. Rohtak : Jind, Charkhl dadri, Hisar, Rewari
3. Rewari Mahender rh, Gurugram Nuh, Jhajjar

1-b, 2-c, 3-d, 4-a (D) 1-d, 2-a, 3-b, 4=c

, Karnal

(C) Only2and4 (D) Onlyland3

%ﬂﬂai%tlﬁltlﬁw

: foee, =t aed, fRaw, @

D RIS, TEUT, T8, HISTT

: firarh, Teas, R, waeEmE

et e & P i B

(Ky“wam 1,203 (B) Haw2,38lR4 (C) aw 2 oK 4 (D) Haw 1 8% 3
(E) orgaid usd
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Which of the following statements with reference to uniform linear motion and uniform circular motion is/

arec TRUE?

1. Inauniform linear motion, a body moves in the same direction with a constant speed but-in uniform

circular motion, the speed of the body remains constant and the direction of the motlo P changes

continuously. } #

2. In a uniform linear motion, there is instantaneous change in velocity but in uitifo
the velocity remains the same.

3. A uniform linear motion is an accelerated motion but a uniform circul

ot1or1i:1s not an accelerated

motion.
Choose the correct answer from the options given below:
(A) 2and3 only (B) 3 only
(C) 1 only (D) 1 and 3 onK

(E)  Question not attempted ; “
wFEa™ s i ot uwEma ghw ft & wed ALGmafafed & @ @9 @R wuw @@
B[E?
1. wEee Yas TR H 1 fis Rex ot % e uw @ o ¥ et § At ceeee gde A e @
o Rex Tedt & Aftee Tify ) R ATt aawdy T Y
2. T YRad T ¥ 3 F debies afed 2Ey ¥ Al e geia e F 3 e e ¥
3. WWW@WW%%&WWWWWW@%I
9 v o] 5 ) o g
(A) had 2 3fT 3
(C) aw 1 ¥)  had 133

(B) oraia ued

Which of the following statement(s);Abou the freely falling objects is/are FALSE?
1.  Freely falling objects are theg objects falling from a height towards the earth under gravitational
force of the earth.
2. The acceleration of a b,. dy fall:mg freely towards the earth depends on the mass of the body.
3. Ifanobject is dropped freely-from a helght its initial velocity ‘u” is zero and if an object is thrown
vertically upwargs, g, fingl velocity v’ becomes zero.
Choose the correct ansyer f the options given below:
(A) 1and3only (B) 2 only
(C) 3only (D) 2and3 only
(E) Questionﬁ n'bt aﬁ&npféd

aﬁa@qqﬁﬁmwﬁaﬁm%qﬁﬁ@?ﬁﬁaﬁa@q%l
. , @rq@aﬁﬁﬁﬁaﬁﬁ%mmﬁ%%ﬁww%ﬁtw%l
m% S g Bl WA B W SaTs A FIET Sl § QF SHe e 9 ‘u” 9 i § ofiR afe feeit
Waﬁ&wﬁwwaﬁﬁﬁmw%a‘rmmﬁm%ﬂ A S E |

(B) haw 2
(D) haw 2 3fX 3

1421 0 13 P.T.O.
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Given below are two statements: one is labeled as Assertion A and the other is labeled as Reason R.
Assertion A: When an artificial satellite moves around the earth in a circular orbit with a constant speed, its
velocity is not constant because the direction of motion of the satellite is changing continio
Reason R: The force of gravity of earth keeps the satellite in circular orbit around it. %
In the light of the above statements, choose the correct answer from the options given below
(A) Both A and R are true and R is the correct explanation of A #
(B) Both A and R are true but R is not the correct explanation of A
(C) Aistrue but Ris false
(D) A is false but R is true

Question not attempted

?ﬁ%ra‘ra:a:rﬁfqnq% T ®I AHI A 3T gEL Bl HROT R &1 AW 21 73 81
SOFTA A: aaaﬁéﬁqmqezﬁ%sarﬁWﬁammﬁ%nﬁ%w"w%aﬁmh%ﬁ
T FiTeh IUUE b T bl M TR S& T 2| )
FT R: JeAT &1 TEQHYT T SUUE I S0 ARY 37T I Bel H Za@qn
SUTERT HUAT B A ¥ @A 5T A 4T e fased § § 99 I i
(A) A SR RIA T ¥ X R, A% & A 3

(B) A 3R RIM O ¥ WithT R, A &1 Tl =amean 78l &
(C) AT ARGT R EA 7
(D) A HI T AR RTA 7

(B) oraia ued

Which of the following statement(s) about the artifi¢ial ‘sweeteriing agents is/are TRUE?
1. Ortho-sulphobenzimide is the first popularartificial;sweetening agent.
2. Ortho-sulphobenzimide is also called as gacchart
3. Ortho-sulphobenzimide is about 100 times as sweet as cane sugar.

(A) 1only (B) 2 and 3 only:,
(E)  Question not attempted '
FHEW AYTH & FH W FrfaRad § ¥ i aH HU 9 88

1. ofel-aeh s usan TR HYw 3

2. e Wﬁwaﬁ@w&mﬁww%

3. SU-ahEEES, T AT 100 T[T et B ¥
T fam Mo faeedt & 9 @ SR gﬁﬂz
(A)  Had 1 293 (C) haw 1313 (D) ®aw 1 3R 2
(B) oraia ued

Which of the following §tétes
1. Transparent séaps are
solvent. ¢ 5

2. Shavmg soaps contgin fillers like sodium rosinate, sodium silicate, borax and sodium carbonate.

(C) "1 and3 only (D) 1and 2 only

nts about the types of soaps is/are TRUE?
ade by dissolving the soap in e¢thanol and then evaporating the excess

sWer from the options given below:
(B) 2 only (C) 1and3 only (D) 2 and 3 only
not attempted

g o Frefafad & 9 B9 9 woF 9 38

H QYA B AHT S BT stfafier fammee i anfad e qrEsll 9ge S SR © |
i % wrg § wiftem Afre, difem fafrhe, e o Gt FEke S wE-TE B T
Eﬁ?%%ﬁﬁﬂﬁ@ﬂ@?ﬁ@%ﬁﬁsﬁzaﬁﬁ%awwﬁwaﬁ@% Eﬁ%z—clreﬁﬁ

(A)M:%lﬁﬁlaﬁ'{z (B) %b—cwrz (C) haw 133 (D) Haw 23X 3
(B) oraia ued

1421 0 14 P.T.O.
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Match List I with List I1.

LISTI LISTII
(Chemical Compounds) (Usage)
A. Norethindrone I.  Cationic detergent
B. Alitame II.  Antifertility drug
C. Cetyltrimethylammonium Bromide II.  Artificial Sweetener
D. Phenelzine IV.  Anti-depressant drug
(A) A-IL B-IIL C-1V, D-I (B) A-IL B-III, C-1, D-I¥
(C) A-L B-1V, C-II, D-1IT (D) A-IV, B-II, C-II
(E)  Question not attempted
Tl 1@t ge 119 e S|
Tl
(Tt M)
A, RFgE
B. ufiew
C. uRwzEhumEaHItE swEs
D. Waed

(A) A-IL B-II, C-IV, D-I
(C) A-I, B-IV, C-II, D-IIT

(B) oraia ued

Which of the following statements abou
1. Dodder is a plant parasite, which
from the host plant.

2. Dodder is a vine-like parasitic plantiand is essentially leafless.

P asitewis/are TRUE?
,ec1al sucking roots called haustoria for absorption of food

3. Many species of Dodder“éauséweéd problems in the horticulture industry.
4. Once the Dodder planﬁzz" cts attje;lched itself to the host plant it loses its root system.
Choose the correct answer ;er;:’*the;.;eﬁitions given below:
(A) 2and4 only (B) 3 and4 only
(C) 1,3 and4 only D) 1,2,3and4
(E) Questlon not

(B) haw 3 3fit 4
(D) 1,2.334

1421 0 15 P.T.O.
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Match List I with List IT.
LIST I (Process) LIST II (Description)
A. Moulting I.  Process of extracting silk frcxm cgGans
B. Reeling II.  Process of removing wool from the :
body of an animal
C. Shearing Process of Washmg the ?aw, he%i:'red

D. Scouring

Tl [ g2t 119 firam ki)

T 1 (wfswam)
A, HifeT
B. fe
C. safar
D. whIefar

(A) AL B-I, C-III, D-IV
(C) AL B-I, C-IV, D-II
(E)  Question not attempted / STTANT TT

(B) b
D)% A-I, B-IIL, C-TV, D-II

Which of the following statements regardlng
are TRUE?
1. Zoospores are flagellated motile*sporg

ggproductive structures in Fungi and Simple plants is/

oduced inside a parent cell called zoosporangia.
2. Conidia are non-motile spores: pmduc #'singly or in chains by constriction at the tip or laterally on
special hyphal branches ca ied conldlophores
cytoplasm and a prote:"" 'Ve covering around.
Choose the correct answer fro the optlons given below:
(A) 1and3 only (B) 2and 3 only
(C) 1,2and3 (D) 3 only

(E)

Question not 2

1421 0 16 P.T.O.
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Which of the following statements regarding Soil is/are FALSE?
1. Fertile soil supports plant growth by providing plants with nutrients, acting as a Wat holding body
and serving as the substrate to which plants anchor their roots. ;
2. Vegetation, tree cover and forest prevents soil degradation and desertification by gfabilizing the
soil, maintaining water and nutrient cycling.
3. Grass found on pasture lands cannot protect the soil against soil erosion and so 1nh1b1ts the soil
biological activities. %
Choose the correct answer from the options given below:
(A) 1and3 only (B) 2 and 3 only (C) 2only
(E)  Question not attempted

qa%waﬁﬁmﬁﬁaamﬁﬁ@rwm%/%?
IUSS aT%Emﬂﬁwﬁﬁﬁﬁmwwmaﬁ%m@ww%ﬁwﬁmm

urel @l i o e w2
2. oEfd, g4, Waﬁtaﬂﬂatwwwwﬁmww at%sﬁa‘aaﬂw%ﬁwa—waw
TS U] % DT el ST TGl & |
3. ;Tnﬁwwéaﬁawﬁwﬁ?raﬁﬂawwﬁﬁwzaﬁ%aﬁtﬁmnﬁﬁﬁﬁaﬁﬁﬁﬁ
|
I faw o fepeat & 9 @ ST ghw:
(A) waw 133 (B) %aw 23X 3 (C) jthgt

(B) oraia ued

Which of the followmg statements given ab

(A) 1only (B) 2 only :

(E)  Question not attempted

I "iaam 9 sTfese 18 & dad fr
1.

2. WWWWW(I@%)ﬁWW%%WWW%ﬁE A feaeT,

“qgH— fizii & T T% QeI G % ST H1 S B
SURiad Bl ¥ B A B
(A) WHad 1 (C) 1R 23 (D) Salax-T&2
(B) oraia ued
With reference to Diregtive® iples of State Policy consider the following statements
1. The Directive Principles of State Policy of Indian Constitution have been clearly divided into

three parts, c. Soclahst Gandhian and Liberal.

Constgtytion is taken from Nehru's objective resolutlon of 1946.
Which of the §tatéim given above is/are incorrect?
(A) 1 onlg. (B) 2 only (C) Both1land?2 (D) Neither 1 nor 2

Qugstign not attempted

1o fagial & gev ¥ e el o foam Aifse -
AR G % sfaifa g & g e fasial & O wm & fawe fpan wn &, gem -
HHTSTATE!, MRl 8 SeanT|

Wi dfaam o 1w & e ot fasia S geerd afifa (sTee 43 & ofavla) § 995§, &
PISIC] 1946%1%1?4111?11% |

(C) 13fR23M (D) Salax-T&2

1421 0 17 P.T.O.
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Consider the following statements :

1. According to the Article 356, Government could declare a state of emergenc' gn grounds of
external threat only .

and all the powers are concentrated in the hands of the union government
3. The 42" Amendment was also passed during the emergency.

Among the various changes made by 427 Amendment, one was that th i
in the country was extended from 5 to 7 years.

Which of the statements given above is correct?
(A) 1and4 only (B) 1and?2 only
(C) 2and3 only (D) 3 only
(E)  Question not attempted
Freaferfire it e feraTe R -
1. m@%ém%%mgaﬂamamﬁs)z%swwwwwwaﬁw@rwmaﬁ%n
2. SRR Y TN % T & TR % ST S ET SR A qT P & s
¥ oir ard st B BT we F Al o
3. U & SO o WIaa & 4241 HQﬁWW{P{H@'Bﬂ o |
4. 429 G9Ne % ST 5T 3 qaardl ¥ b F91 B AR F FRIE F 5 a9 Y ForET 7 a9

HET
SUdH W ¥ DI Y HAT T8 7

(A) had 13iT4 Had 1 T2
(C) waw 2 33 (D) a3

(B) organa 9sd ‘

onstituent Assembly
membership of India

B) 1.4,3,2
(D) 3,4,1and2

SR FRUATT BT @l T8 Y § aRYd HifTe (T 9 de)
T H TISHhT bl TIT STRHHTIOT

B) 1,4,3,2
(D) 3,4, 1702

P.T.O.
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Consider the following pairs:
Committee of the Constituent Assembly Chairperson

Language Committee Jawaharlal Nehru
Union Power Committee Moturi Satyanarayana
Minority Committee H. C. Mookharjge *
Fundamental Rights Sub-committee J. B. Kriplani
Advisory Committee on Fundamental Rights Vallabhbh: ':“’P'éitci_&l%
How many pairs given above are correctly matched?

(A) Only 1 pair (B) Only two pair
(C)  Only three pairs (D) Al five pairs %
(E)  Question not attempted

freferiaa gt o fomm sifsTg)

W Q[

EINIESIEI]

EREICRRSIIG]

e g

AT STfu@R Sa—|itd

AT STl & FaEHR R
S 7 & ot gl g ¥ 7
(A) &a@ 1g™
(C) &Ha@3 g™

(B) oraia ued

il e

e

1. The “Motilal Nehru Cqmmrttee..... fesented a bill of rlghts in 1930.

2. A Bill of rights proh;blts government from thus acting against the rights of the individual and
ensure a remedy i ¢ r¢'is a violation of these rights.

3. Government canfiot put, eaéonable restrictions on the exercise of our fundamental rights.
Which of the statements’
(A) Only1and?2 '
(C) Onlyl1, 2 and
(E)  Question got ati¢mpted
STl % Ao, & Hefia Frfaiad sae oX e S

1. 19301?r AT & QT = STTHH H1 Teh ArSends T&d e
2. FofgeTIl BT AT TIBT B AFND & ATIB &6 Foreg HwH B T Uobal & 3T ITHT S
Bl ST TR ifye & ¥
R AT ST o T ax sftfereayel wieser Té & m ebelt )

O W B T F e ¥ 7
(A) T 1 82

abéve is/are incorrect ?
(B) Only2and3
(D) Only1and3

(B) haw 2 X 3
(D) haw 18X 3

(B) oraia ued

1421 0 19 P.T.O.



40  Consider the following statements:
1. A Bill pending in the legislature of state shall lapse by reason of the prorogatlon f the House or

Houses thereof.

2. A Bill pending in the legislative council of a state which has been passed by the legisl

shall lapse on a dissolution of the assembly. i,

3. A Bill which is pending in the legislative assembly of a state or which h jve b

legislative assembly is pending in the legislative council shall not lapse 6n a

assembly
Which of the statements above is/are correct?
(A) 1and?2only (B) 2and 3 only
(C) 1and3 only (D) 2 only
(E)  Question not attempted
frrefafad wemt ur famme &

1. el T 3 e e ¥ cife Rk s e A SEET % BT QT BT
2. fesit Trow @ faem ufvo # wifea fagas, %m?r%raﬁam%ruﬁﬂ’ﬁw% T @ % feraest @
FA@EE@ e
g fereiaes, ST fepdll Trow ol ferermst @ o wifera @ feap @vr < i fopan & = farar afteg
Wi %, %raﬁam%s%rmwwmﬁﬁm '
U ¥ F B A1/ BT T B[ ?
(A) had 132
(C) waw 183

(B) oraia ued

41  Consider the following statements : :
1. A parents or guardian to prov1de @pportum,es for education to his child or, as the case may be,
ward between the age of six to fourtgen years.
2. To provide early childhood care aird education for all children until they complete the age of six
years.
3. To protect and improve th natura
have compassion for living*
4. To safeguard pubhc property and to abjure violence.
5. To provide primary hgalthcarg to the persons below poverty line.
Which of the statements ab, 18/arc.related to fundamental duties?
(A) 1,2 and3 only (B) 1,3 and 4 only
(C) 1,4 and>5 only (D) 1,3 and>5 only
(E) Question not aptémpte

vironment including forests, lakes, rivers and wild life and to

Pt el e e % -
1. - ﬁmmmw&g%iﬁaﬁaﬁwﬁmaﬁmﬁ FenRerfr STee A1 wired % fog fae

2. srrdﬁé'oﬁss’fa;éna?r%@%@rﬁ?ﬁﬁ&ﬁﬂﬁﬁwwaﬁmwﬁﬁ%maﬁﬁmwﬂmﬁ,
T1eT wa e % fore v @
oo Titarer &Y, fds staefa o, 3@, =1d1 o o= oie &, Y& &Y ofiX S97eht dae™ &Y qar
Shiferct o % i < v @)
HdsTveh G Bl GIrea T ST Ear 9 3T W)
RIS @ % A T @ At & forg e wren glaum yem &%)
wjaﬁfr B GI/E HIT A B o S o/F ?
A) e 1,2 83 (B) had 1,3 3T 4
“%b—qal,mﬁTs (D) aw 1,335

20 P.T.O.
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Given below are two statements : One is labelled as Assertion A and the other 1s labelled as Reason R :
Assertion A : Federalism in India is in recent years moving from cooperative to bargalmn federal system.

Reason R :  Residuary powers of legislation are lying with the centre.

In the light of the above statements, choose the most appropriate answer from the gptions gig@ﬁ? below :

(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R is NOT correct explanation of A.
(C) A s correct but R is not correct.

(D) A isnot correct but R is correct.

(E)  Question not attempted

I 3w g T ¥ @ﬁWmA%wﬁaﬁTwaﬁWR%ﬁw T@Tw%

A A B F AN A ARAT WO gEari dHar ¥ deam &1 g ¥
FCTR ¢ faur & oafire gfeqal &= BRI E o, o
Wwﬁ%mﬁmﬁ%@w%ﬁﬁ%wﬁwww ; Waﬁﬁﬂ
(A) A &t R 8 ¥ ot R, A 1 91 =are &4
(B) A ot R AT @i ¥ Afe R, A B wdl e T 3|
(€) ATH¥afeT Rad ¥ |
(D) ATEd & @feT REE F)

(B) oraia ued

Given below are two statements:

Statement 1 : The Indian National Corigg
convinced with th@ demini

¢jected the “Cripps Proposal’ because Congress was not
atus offered by the British.

Statement II : The Muslim League acc'“ ted the “Cripps Proposal” because the indirectly demand of
Pakistan was, aecefted-6y the proposal.

In the light of the above stateni ts, chg;ose the correct answer from the options given below :
(A)
(B)
©)
D)
(E)
%Eﬁiﬁ?ﬁﬁq ~.%
FE L PA TSR BT 7 T Tearer’ bl STEIebTT Y Foram <haifeh biae STt g eanherdt stfaas 1
frarfy @ dqee o1 |
gﬁmaﬁﬂﬁﬁmwaﬁﬁﬁwaﬂmmﬁﬁswmwﬁmﬁaﬁwaﬁqﬁaw%
THTT B ferdm T A
T BN B et & e R o R ¥ & W o @ w F

o 1 af 11 31 e &) (B) %o 18R 11 3 e ¥
%o 1 98l T T e 11 7ad 5 | (D) Hu I Tad & T AT [ T

(B) oraia ued

FI

1421 0 21 P.T.O.
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Given below are two statements :
Statement I : The Fundamental Rights are non-justiciable in the courts.

Statement II  : The Directive Principles of State Policy (DPSP) are made justiciable jn thg

In the light of the above statements, choose the correct answer from the options given below
(A) Both Statements I and II are true.

(B) Both Statements I and II are false.

(C) Statement I is correct and Statement 11 is false.
(D) Statement I is incorrect and Statement 11 is true.
(E)  Question not attempted

I &) e e MU E

FAA1: AT SFTUBR E@al o aeary T8 )

FEI ;. T & A Mo Rigia =maeal § arear ¥
YRR BUT b STETD H A T 7T faseal ¥ ¥ Q& ST &1 I9 4

(A)  H I 30T I 3 9 B (B) a;a:rlaﬁnlaﬁfﬁm%l
(C) ®uT 1 G T &R %o 11 7T | (D)  HU I TIeia,E i %o 119 )
(B) oraia ued

Given below are two statements :

Statement I : “The doctrine of basic structurc ~has been., propounded by the Supreme Court in the

Kesavananda Bharati case in 19‘73

Statement II  : The Indian Parliament has the, powe 10; imend the whole Constitution.

In the light of the above statements, choose the coyrect afiswer from the options given below :

(A) Both Statements I and II are true.
(B) Both Statements I and II are false.
(C) Statement I is correct and Statemep
(D) Statement I is incorrect and Statem
(E) Qucstion not attcmpted :

T e R ¥

] falset

w1 1973ﬁ%5$mﬁaﬂr{?ﬁmﬂﬁ el AT B R @) % R @ wRR R )

FEI : Ww%w@aﬁrwﬁmﬁmaﬁﬁsﬁﬁ%l

SUieRT el & e ¥ i, ftram feedl § & @8 ST B 9u B

(A) B 1 ST 11 A e (B) @ 1 i 11 3 araed ¥

() o 1T ¥ Sy Hofl] Tea ¥ (D) e 17T & 3R %e 11 & B
(B) SR 9ed
Arrange the follg:wmg"m@vements chronologically (from earliest to latest)

b. Ahmedabad Satyagraha
d. Champaran Satyagraha

© dbac (D) dach

b. STEHIEE TS
d. YR 9@

(€) dbac (D) dach

1421 0 22

P.T.O.



47  Match List - I with List - IT :
List - I (Schedule)

1. First a.
2. Second b.
3.  Third C.
4. Fourth d.
5. Fifth e.

Choose the correct answer from the options given below :

(A) 1-a, 2-b, 3-c, 4-d, 5-¢ (B) 1-b, 2, 3-d, 4c,
(C) 1-a,2-¢, 3-b, 4-c, 5-d D) 1-¢ 2.3
(E)  Question not attempted
A - 161 T - 1S P i
T - 1 ()
1. 9w a.
2. fadm b.
3. qad C.
4. agd d. . ezg&gi%ﬁ tvmm%r Td ST & B uLme
5. Wa i, W%‘ﬁsﬁ TR o= ofiR weran Tie®
% A/ T T
A fam T faeeal # € wé SO g
(A) 1-a, 2-b, 3-c, 4, 5-¢ (B) 1-b,2-¢, 3, 4-¢, 5-a
(C) 1-a,2-¢, 3-b, 4-c, 5-d (D) 1-¢ 2, 3-a, 4-b, 5-¢
(B) organa usd
48  Match List - I with List - II :
List- 1 List - 11
a. S Khilnani I.  The idea of India
b. Rajni Kothari II. Democracy and Discontent
¢. R Guha III. India After Gandhi
d.  Atul Kohli ' IV. State against Democracy
Choose the correct ghswer frot the options given below :
(A) a-l, b-II, c-II;d-TIV (B) a-lV, b-IIL, c-I1, d-1
(C©)  a-lIL, b-Ilgc-I, dek (D) a-l, b-1V, ¢-III, d-I1
(E) Questlon’ Qt attempted
- 10
I 3 omsfen o gfean
. Suphdl U femsde
11 gfEar s et
4, Eaa IV. ®2 o Samhdl
fﬁ%r%qnqﬁarvchﬁ@mﬁwwwaﬁﬁq
) AL b-I1, -1, d-IV (B) a-lV, b-IIL, c-I1, d-1
(C) a-ll, b, ¢, d-IV (D) a-l, b-1V, ¢-III, d-I1
(B) oraia ued
1421 0 23 P.T.O.

List - Il (Provision/Subject)
The state and the union territory
Oath

Allocation of seats in the Rajya.$abha
Administration and Control of

Scheduled Areas and Scheduled T es

President, Judges and Co ptrol and

Auditor General of India




49  Match List - I with List - IT :
List- 1 List - 11
a.  Estimate Committee I. 22 Members
b. Public Account Committee II. 30 Members
¢.  Rule Committee of Lok Sabha III. 31 Members
d.  Department-related Parliamentary IV. 15 Members
Standing Committee
Choose the correct answer from the options given below :
(A) a-l b-l, ¢c-1V, d-1I (B) a-lV, b-IIL, c-I1, d-1
(C©) a-ll, b-IL, c-L, d-1IV (D) a-ll, b-l, ¢-III,
(E)  Question not attempted ;
A - 161 T - 1S P i
-1 - 10
a.  SgHr BIGIR
b. % war g
c. % 9 Wl e |
d.  TaamT gee dedr @
ot faw Ty foemedl & | WE AT B T BN
(A) a-l b-l, ¢c-1V, d-1I
(C©) a-ll, b-IL, c-L, d-1IV
(B) oraia ued
50  Match List - I with List - IT :

List - I (Articles)

a. 265

b. 266 II.
c. 267 III.
d. 263 Iv.

Choose the correct ansy

(A)  a-l, bl ¢-IIL, gslV
©)
I
L.
1.
Iv.
aIII,bII,cI,dIV
(E) arara ued
14210 24

List - IT (Provisions)

Taxes not to be imposed save by authority
of law

Consolidated fund of India

Contingency fund

Inter-state council

¢ options given below :

(B)
(D)

a-1V, b-I11, c-11, d-1
a-11, b-I, c-I11, d-IV

T - 11 (Jrae)

HIA & WIHIBIT & FST HT T T S
AT @l S iy

SR RASAT Y

A uieg

(B)
(D)

a-1V, b-I11, c-11, d-1
a-11, b-I, c-I11, d-IV

P.T.O.



51  Match List - I with List - IT :
List - I (Articles)

a. 243 (K) I.  State Finance Commission
b. 243 (D II. State Election Commission
c. 2437 (D) III. Committee for District Planni
d 243Z(E) IV. Committee For Metropolitan Pla
Choose the correct answer from the options given below : :
(A) a-l, b-II, ¢-III, d-1V (B) a-lV, b-III, ¢-II, d-
(C) a-ll, b, ¢, d-IV (D) a-IL, b-I, c-III, =¥,
(E)  Question not attempted
A - 161 T - 1S P i
T - 1 (orge)
a. 243 (%)
b. 243 (31%)
c. 2439 (F)
d. 243%% )

e fou U foeeal ® 9 W1 ST Bl 99T HINT ¢
(A)  a-L b-IL, ¢II, d-IV
(C) a-Il, b-Il, ¢, d-IV

(B) oraia ued

List - IT (Provisions)

52 Match List - I with List - II :
List- 1 List - 11
a.  Sanskritization I.  Rajni Kothari
b.  Secularization of caste II.  Granville Austin
c.  Social Revolution II. D. L. Seth
d.  Politicization of Caste & IV. M.N. Srinivas
Choose the correct answegf e 6ptions given below :
(A) a-, b-IT, ¢-II1, d-F (B) a-IV, b-I11, c-I1, d-I
(©) a-lL b-IL c-LAd-TV (D) a-IL b-L, c-III, d-1IV
(E) Question not al mpt .
- 11
I T wlerd
0. I siies
. <. ua. 93
IV. ©q. w9, AftEd
e (B) a-IV, b-I11, c-I1, d-I
(C a-II1, b-II, c-l, d-IV (D) a-IL b-L, c-III, d-1IV
(B) oraia ued
1421 0 25 P.T.O.
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54

55

Match List - I with List - IT :

List - I (Articles) List - IT (Provisions)

a 6l I.  Impeachment

b. 72 II. Pardoning Powers

c. 54 III. Election

d 123 IV. Ordinance

e. 76 V. Appointment of Attorney Geng al
Choose the correct answer from the options given below : '
(A) a-l, b-V, ¢l d-III, e-IV (B) a-1V, b-IIL, c-II, d-1, g=V
© a-I, b-II, c-III, d-IV, eV (D) a-l b-Il, ¢-1, d-1V,%-V

(E)  Question not attempted

A - 1 %1 T - 11 8 B iferg

T - 1 (31ge)
a. 61
b. 72
c. 54
d. 123
c.
%%qwﬁw@rﬁ@mﬁwwwaﬁﬁq

(A) a-L b-V, c-IL, d-IIL, e-IV
(C)  a-L b-IL, ¢-IIL, d-IV, e-V

(E) oraid usd
Match List I with List IT.
LISTI ISTII
A. Albatros plateau orth Atlantic Ocean
B. Telegraph plateau II North-West Pacific Ocean
C. Amsterdam-St Paul platecau 1II. South-East Pacific Ocean
D. Kuril-Kamchatka Trench “1IV. Indian Ocean

(A) A-2,B-4,C-1,D-3
(C) A-1,B- 2 C- 3 D-4
(E) Question not attempted

Tl L &1 g4l 118 B sl
Tl

(B) A-3,B-1, C-4, D=2
(D) A-4, B-3, C-2. D-1

(A)
(€) A-1,B-2,C-
(E) \ﬂﬂﬂﬁ_ﬂq-‘ﬁ

which is/are Wf gly matched
1. Jean Brunhés, #France 2. Muhammad al-Idrisi - England
3. David Harvey - Spain 4. Grehard Schott - Germany
ect answer from the options given below:
(B) 3 and4 only © D)

1 and 3 only 2 and 3 only

2. gwwsﬁ?ﬁ )

: 3% 4. TTE WIS -
(A) o 1 3fit4 (B) had 3 3t 4 (C) haw 133 (D) Haw 23X 3

(B) oraia ued

1421 0 26 P.T.O.
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57

Given below are some of the definitions of Human geography as defined by famous geographers. Identify
the pair(s) which is/are rightly matched.

1.  Human geography is the synthetic study of the relationship between human SOCIC’[IW
surface — Friedrich Ratzel

2. Human geography is the study of changing relationship between the unrestlng an and #He unstable
carth — Ellen Semple

3. Human geography offers a new conception of the inter relationships
beings — Ellsworth Huntington

4. Human geography may be defined as the study of the nature and dlstrlb of the relationships
between geographical environment and human activities and qualmes.— Pauf"Vidal de La Blache

; rth and human

Choose the correct answer from the options given below:
(A) 2and4 only (B) 3and4 oql;’y
(C) 1and?2only (D) 1and4 ok
(E) Questlon not attempted E ,
m%“rﬁaﬁaﬁweﬁ%/weﬁ%“raﬁwaﬁﬁm :
1. a9 A/ FH ST geAl &l 93e b ara 9 u‘rwﬁﬁa{m% S T
2. WTﬁawﬁﬂwaﬁTmﬁmqﬁﬁ%ﬁﬁawﬁwﬁwmm% TAA A
3, W@ﬁg@ﬁ?%%@ﬂﬁéﬂﬂﬁ%@ﬂéwwww% TeEaYy &fmed
4

R 3 T R e o ey v et & @ s
T fog T famedt ® ¥ W@ SO g
(A) Faw 2 3 4 (B) e 3 37T 4
(C) haw 13iT2 (D) haw 13iT4
(B) oraia ued

Arrange the following five zon lagic region of an ocean in the increasing order of its depth from

the surface.
1. Mesopelagic 2. Epipelagic
3. Abyssopelagic | 4.  Bathypelagic
5.  Hadopelagic
Choose the correct

(A) 51,432

swer fr m the options given below:
' (B) 2.1,4.3,5

(©) 12,5, (D) 4,1,2,5.3
(E)
@W%ﬁﬁm%ﬂ%ﬁﬁmﬁiﬁaﬁw%ﬁaﬁwﬁsﬂaﬁwéswaﬂwa@%wﬁmﬁ%aﬁﬁm
2. woUAfSE
4. qURTSE

(B) 2,1,4,3,5
D) 4,1,2,5,3

27 P.T.O.



58  With reference to the different types of soil found in India, identify the pairs which is/are wrongly matched.
1. Submontane soil - These are formed by the deposition of eroded material and are found in the Tarai
region stretching from Jammu and Kashmir to Assam.
2. Karewa soil - These are the lacustrine deposits found in the Kashmir Valleys an Bwadarwah
Valley.
3. Peaty and Marshy soil - These are typical soils of the monsoon climate chgrac ”
rainfall and is deficient in organic matter. "
4. Laterite soil - These soils are rich in humus and organic matter.
Choose the correct answer from the options given below:
(A) 1and?2only (B) 2and 3 only
(C) 1,3 and4 only (D) 3 and4 only
(E)  Question not attempted
Wﬁw@aﬁaﬁ%ﬁﬂwﬁﬂaﬁwﬁﬁweﬁ%ﬁﬁw %ﬂwﬁaﬁww@rﬁw
T %
. SO a1 — & FURIEd Il o STH1E & I & AT
S
2. HE gar — A HyHIT Al it oY wears wrd ¥ g 9 i aiad) fad ¥)
3. Uiz SR awael ga1 — 3 WieH! ao b fasten aret wrreg werarg a fafine gand ¥ o g st

ised by seasonal

'@Tmsﬁ?@rwwﬁﬁm%ﬂﬁw@

garet bt HH S 7
4. WeEE g — ﬁﬂmwaﬁTaﬂﬁfﬁ'sﬁw,j Wsﬁr%l
e g o faeedt ® @ @@ ST gTw:
(A) had 132 e 2 87T 3
(C) had 1,3 34 e 3 AT 4
(B) oraia ued

59  Which of the followmg statcmcnts Wlﬂ’l rcfcrck *c to thc main cropping scasons in India is/arc FALSE?
it "' from Arabic language where Kharif means autumn and Rabi

2.
3.
4.

(A) 1and?2only
(C) 3 and4 only
(E) Question'ﬁOt atf%mﬁféd

(B) 1and4 only
(D) 2and3 only

smmﬁw@rwgq%waﬁmwaﬁ%sma@ﬁﬁﬁwmﬁ%wml
eﬁrtmﬁﬁaﬁaﬁ%s%qa%ﬁwaﬁﬁmqﬁaﬁmmwﬁ%l

(B) haw 1 3fix4
(D) haw 2 3R 3

28 P.T.O.



60  Match List I with List II.

LISTI LISTII
(Pedogenic Process) (Description)
A. Podzolization I. It is associated with humid cold #iddatitude
climates and coniferous Vegetatron
Laterization II. It is associated with s01l§'f'dund n#
tropical and subtropical, environments
C. Calcification III. It is associated with warm, s¢ i-arid

environments, usugﬂly ‘i, grassland vegetation
Where evapotransplratron exceeds precipitation
D. Gleization

(A) A-IL, B-l, C-IILD-IV (B)
(C) A-L, B-II, C-IIL, D-IV (D)
(E)  Question not attempted
Tl L a1 gl 11 e &g |
Tl
(FTAHE TFH)
N I
B. wWIUgAIH
fr wrs‘ S AT e | Hefa B
C. Hfcaftpnrs T, vy e § wafa &,
TR UX = & BE™! ° Wl arege—
IHeT § STIET ST Blan & |
D. TEAE g 33 ARG 6 TS S e oK
ST T e &l o @Eiid § ofi g
firzdl &% Ul Wi § r S 3

(A) A-IL B-L, C-IILD-IV
(C) A-L B-IL C-IIL D-IV

(B) oraia ued

61  Which of the following statements with; reference to natural resources is/are FALSE?
1. Biotic resources are the, resoyfces obtained from biosphere and have life such as human beings,
flora and fauna, figh ies estock etc.
2. The resources which:cari*pe reproduced by physical, chemical or mechanical processes are known
g ices.
3. The resourcegitiat occuf over a very long geological time and take millions of years in their formation
are called renewable resources.
Choose the correct ansyver f ‘om the options given below:
(A) 1only 2 and 3 only (C) 1and3 only (D) 2 only
(E) Questioi n& 9
Wwaﬁﬁ%\s o frefaRaa wouel & 9 &9 @/ s B/E 7
Wwweﬁaﬁw%www%aﬁ?sﬂﬁ@ﬁaﬂsﬁm%@%ﬂw gEfa ofi s, aeaar,

g
& Ty =g e, Tramates an aifre wfeanetl s 4o Sa=t fean o @ ¥, i-dismtea
“wa:r%swﬁaﬁaﬁ%

(B) A-L B-IL, C-IV, D-II
(D) A-IV, B-IIL, C-II, D-I

Fad 2

e 1 3T 3

© (D)

1421 0 29 P.T.O.
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63

Match List I with List I1.

oOw

(A)
©
(E)

LIST1

(Dams)

Nizam Sagar Dam
Somasila Dam
Nathpa Jhakri Dam
Linganamakki Dam

A-III B-I, C-1V, D-II
A-1V, B-1, C-II, D-III
Question not attempted

Tl L &1 gl 114 fee &g

oSN w >

(A)
©
(E)

Tl

CLE))

e arR Tiy
T Sy
AT SRS Sy
e Tig

" AL B-L, C-IV, D-II
A-IV, B-L, C-I1, D-III

HTART U

Match List I with List I1.

A

B.

D.

(©)/A-L BV, C-I11, D-II
Question not attempted / SITAT TS

(E)

1421 0

LISTI

Geographer who introduced the
concept of 'stop and go determiny
Geographer who opined that clifnite
profoundly influences man, hlSc'Q ur

and geological processes
Geographer who wrote th
“The New World: Prob
Political Geography’
Geographer who opl

LISTII
(Rivers)
I.  Pennar river
II.  Sharavathi river
III. Manjira river
IV. Sutlej river
(B) A-L B-II, C-II, D-LI¥
(D) A-I, B-IV, C-1, D-II}

LISTII
Ellsworth Huntington

II.  Griffith Taylor
III. Jean Brunhe

IV. Isaiah Bowman

T I
I. ey &

I fifter X

. SiF s
Iv. saams

(B) A-IV, B-I, C-IL, D-II
(D) A-IV, B-I, C-II, D-IIT

P.T.O.
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65

Arrange the following elements in the decreasing order of their availability (in terms of percentage by
weight) in the Earth's crust.

1. Silicon 2. TIron
3. Oxygen 4. Sodium : |
O ¥ FrefaRad qel B ST SUSHT % STHTT U T A o (arvl:r%sm%rsm%ﬁ FAH) TARIT BT
1. et 2. AW
3. offee 4. qifeEw
Choose the correct answer from the options given below:
3 fa T et § @ w8 S g
(A) 2>1>3>4 (B) 3>1>2>4
©C 1>4>3>2 (D) 4>1>3>2 %
(E)  Question not attempted / Bﬂ?lﬁ_d LES
Match List I with List IT.
LISTI LISTH,
(Landforms) (Okcurreice)
A. Cirque 1. The tandférms found associated with

oodplains, along the banks of large

s

Thefmost common of landforms in

glaciated mountains

he landforms with a relatively flat

rock surface formed by the joining of

several pediments, generally found in

arid and semi-arid areas

IV. The landforms formed when most of

the limestone is taken away by the
pits and trenches

(B) A-1V, B-, C-III, D-IT

(D) A-II, B-1V, C-II, D-1

B. Lapies

C. Natural levees

D. Pediplain

(A) A-I, B-1V, C-I, D-III
(C) A-IL B-IV, C-II, D-III
(E)  Question not attempted
T L& g 119 e aﬁﬁm
Tl
(Y—sTepfera)
A T

T I
(At &)
I 913kl & fFm, 916 & AaEl § e

5 el
II. Tearesiieq gdal & 999 M=

Y-St

. T% SYEATHT qUIE TEM Bl TS & A
H—STIHI S STHAR X & 3T
- &l # UIT S A o UreHed
& e 9 Il 8

IV. & —Spiaal a9 I & o9 SAaHia
AT WX TTEG! ST Tl g1 se e
I &

tA) _A-II, B-IV, C-I, D-III (B) A-IV, B-I, C-IIL, D-II

(C)  A-L, B-IV, C-II, D-III (D)  A-III, B-1V, C-II, D-I

(B) oraia ued

1421 0 31 P.T.O.
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Given below are two statements:
Statement I:
In 1960s, the Government of India under the then Food and Agriculture Minister Chldambaram bramaniam,
launched the Green Revolution with the help of a geneticist, M.S. Swaminathan. ¥
Statement 11:

During Green revolution high-vielding varieties (HY Vs) of dwarf rice seeds namelym e
Sonara 64 was introduced in India, which were imported from Japan.
In the light of the above statements, choose the most appropriate answer fro
(A) Both Statements I and II are correct

(B) Both Statements I and II are incorrect

(C) Statement I is correct but Statement 11 is incorrect
(D) Statement I is incorrect but Statement II is correct
(E)  Question not attempted

Y 3 Fed g o

FHI:
1960%3-‘21’0513WW%WW@TW@WW%W%WH%W@@
TITIAT I Gedl | B it &l JESTd Bl | g

FA I1:
T SHITT &% S $aTh So—4 @l 818 Eﬁ'i%%"T%l'{'l's'(fﬁ[(HYVS @:T?ﬁ'crLermaROJo 64-A 3T Sonara 64 T
Wﬁsﬁﬁww 9= ST @ s fepan T #f 4
Wwﬁﬁwﬁwﬁg%hm%ﬁﬁ%g T SUGART ST BT TG DI
(A)  HIT ISR 11 a2 & gt 1 30 11 3 T &

(C) &u7 [ TRl T @b % 11 7Tea & HUT [ 7Td & AfhT B 1981

(B) oraia ued

Given below are two statements:
Statement I:

The National Food Security Missio (NFS i
Statement I1: i
The mission was launched withian Ob]GCthC to increase the annual production of rice by 10 million tonnes,
wheat by 8 million tonnes and pulses y 4 million tonnes by the end of the Eleventh Plan (2011-12).

tha Rojo-64-A and

tlons:"given below:

of India was launched in October 2009.

Statement 1 1s* mcorreét but Statement II 1s correct
(E) Questlon Hot attempted

Waﬁw(zoll 12) % 3 To AT 6 a1 S # 10 ffeem < o @1, 1 & 8 ffaas =1 @& &
e, H 4 firfere < 7 9 gfg w F Sea @ frem o feen e e
] B Y S W T 5T A R g feedt F ¥ wed SUgR SO 1 T Hifo:

(A) et T i 11 3T e ¥ (B) e I 87T 11 3 it &

(Cy=~Fo 18 & A6 Her 117ad & (D) ®YF 1 7Taq & e & 11 T8l &
(B) oraia ued

1421 0 32 P.T.O.
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German Economist Johann Heinrich von Thunen created one of the first geographical models related to
agricultural land use.
Which of the following statements are FALSE with reference to assumptions of Von Thu
Theory?
1. The isolated state comprises of one market area and an agricultural hinterland,
2. The hinterland ships its surpluscs to no othcr market cxcept the city.
3. There are multiple modes of transport.
4. Thereis a homogeneous physical environment, including a uniform plain around
5. The hinterland is inhabited by farmers who cannot adjust automatic o thg market’s demands.
Choose the correct answer from the options given below:
(A) 1,3 and>5 only (B) 3 and5 only
(C) 2and4 only (D) 2,3 and5 onl
(E)  Question not attempted N

SR el e SieT T i g X i 3t S & W T AR
ol
aﬁgﬁﬂéswﬁ%@aaﬁwaﬁ%swﬁﬁﬁﬂ%ﬁﬁﬁ@r@ﬁ@mwm%?

quﬁwwaﬁﬁaﬁ[mﬁ?ﬁwsﬁa%l

s Location

[ o & w1 T o

§
4
|
i

%%qnq%wq‘rﬁ@ra@rwgﬁq
(A) Had 1,385
(C) a2 3T 4
(B) oraia ued

: LIST II
A. Five Indian Institutes of TeohhoIOgy . Fifth Five Year Plan

institutions
B. KVIC (Khadi Village ]
Commission) was set ’
Gadgil Yojna
The Minimum Nek

II. Third Five Year Plan

C. II. Second Five Year plan
D.

IV. First Five-Year Plan
(B) A-1V, B-III, C-II, D-1
(D) A-1I, B-1V, C-1, D-III

(A) ; ;
(C)  A-IIL B-IL C4I, D-IV;
(E) Questlon not atfempted
# e o T g g g @ W fae @ T WY

& 1
& I (IITs) @ I igdl dasE ase
e % T A IREAUIY
(T foretor FSENST HIaT) b 1. e deedig e

1. e deed der
fafeme e g™ (MNP) @
JESTIT &l 5 IV. U&cil Yoadid diemT

A) [, B-III, C-II, D-IV (B) A-IV, B-III, C-II, D-I
(C) A-IIL B-IL C-L D-IV (D) A-1I, B-1V, C-1, D-III
(B) oraia ued

1421 0 33 P.T.O.



70  Arrange the following Coalfields of India from South to North direction.
1. Singareni coalfield 2. Jhilimili coalfield
3. Giridih coalfield 4. Neyveli coalfield
Choose the correct answer from the options given below:
(A) 1,4,2,3 B) 4,2,1,3
C) 4.1,2,3 (D) 2, 1, 3, 4
HIT Dl PR BIAheed i 3679 ¥ AT {29 Bl 3R aned &L |
1. RETE s &= 2.
3. fifcEr s = 4.
T faw T foeeat # € @Rl IO g
(A) 1,4,2,3 B)
) 4,1,2.3 (D)
(B) oraia ued
71  Match List I with List II.
LIST1

(Thermal Power plants in India)
A. NTPC Ramagundam Super
Thermal Power Plant

Mundra Thermal Power Station
Megjia Thermal Power Station
Trombay Thermal Power Plant
(A) A-II B-1V, C-1, D-III

© A-IV B-1, C-1I, D-1II

(E)  Question not attempted

Tl L &1 gl 114 fee &g

oow

o0 wp
&
o
)
=
&
3

(A) A-IL B-IV, C-I, D-III
(C) A-IV, B-L, C-IL, D-1lL

(B) oraia ued

72 Match the following :

2' L
3. Indo-Australi’éin &Pacific Plate
4 Pamﬁcﬁ' ate &"Okhotsk Plate

1-b, 2-c, 3-a, 4-d

(B) oraia ued

T I
(¥=)
I wers
II. ufyed ST
I e

A%
(B) A-IIL B-IV, C-II, D-I
(D) A-I, B-IIL, C-IV, D-TI

Tonga Trench

Mariana Trench

Aleutian Trench
Kuril-Kamachatka Trench
(B) 1-b, 2-c, 3-d, 4-a

(D) -, 2-d, 3-a, 4-b

fo o

a. =W ?:ﬁ

b. #fwm =

c. R =

d.  FgE—wHAmEr =

(B) 1-b, 2-c, 3-d, 4-a
(D) l-c, 2-d, 3-a, 4-b

34

P.T.O.
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75

Which of the following is not an example of Rocks with Phaneritic texture?
(A) Granite (B) Diorite
(C) Ryolite (D) Gabbro
(E)  Question not attempted

frfafaa & & @ a1 S Hifesm SEe @1 SaEer T § 7

(A) IS (B) feammEe
(€) Tz (D) s
(B) oraia ued

Consider the following statements :

1. Tiber river delta is not an example of cuspate delta.

2. Tiber river enters into Tyrrhenian sea.

3. The Tiber river flows through the city of Rome.
Choose the correct answer from the options given below :
(A) 1and3 only
(C) 2and3 only
(E)  Question not attempted
frrerferfaa wemy wx fame &Y :

1. QIESR Tl 3T BT ST T IATEX T8 $ b

2. QRS A A geR ¥ R 3

3. g% &I U9 98§ eI 2

Frerfefaa Fed 7 Rt @ w81 o g
(A) aw 1 83 (B) ¥aa 1
(C) haw 2 33 (D) haw 1 32
(B) oraia ued
Consider the following stateme,:. S
1.
2.
3.
Chosse the correct a
(A) 1and?2only (B) 1and3 only
(C) All of thgfabove (D) 1only

e 1 3T 3

P.T.O.
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What is the correct sequence of the given geographic feature from South to North?
(A) South-Sandwich Trench - Puerto Rico Trench - Japan Trench - Kuril Trench
(B) South-Sandwich Trench - Japan Trench - Puerto Rico Trench - Kuril Trench
(C)  Puerto Rico Trench - South Sandwich Trench - Kuril Trench - Japan Trench
(D)  South Sandwich Trench - Puerto Rico Trench - Kuril Trench - Japan Trench #
(E)  Question not attempted

faw T ARt —stpiaal @1 aferor | ST & ST 981 HH R 7
(A) Gey ety 3o — e far 39 — wue 39 - wiw 39
(B) drsy Hsfoa 3= — M ¥ — =2t fat 39 — R &=
(€)= et 3 — wrey e 3w — wfw 39 - wme 3
(D) ey Hefaa 3o — e fal 39 — |ha ¥ — 9uE 39
(B) oraia ued

Given below are two statements:
Statement I : ]
The Arthrashastra is a treatise on government and economics %
Chandragupta Maurya. #
Statement II : ) :
By the third century B.C. the economy of North India *as predominantly agrarian. Land revenue had

become the accepted source of income for thie-ge mment. Kautilya refers at length to methods of tax
collection and related problems. Modificatigns, in lang tax appeared to be the direct concern of the king.

%ribed to Kautilya, the chief advisor of

In the light of the above statements choogé thecorrect answer from the options given below:

(A) Both statements I and II are tru
(B) |
©)
D)
(E)

(D" e 1 Tea & fohegg e 1L )
(B) oraia ued
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Statement I :

The walls of the Buddhist care Shrines were coverage with murals illustrating Buddhist n.
Statement 11 :
A more distant region where this tradition of Indian painting was adopted was Central As1a
Baniyan in Afghanistan, and Traversing Central Asia were serious of Buddhist monastrles Wlth shrmes cut
mto the hills and covered with murals. :
In the light of the above statements, choose the correct answer from the options given
(A) Both statements I and II are true.

(B) Both statements I and II are false.

(C) Statement I is correct but Statement II is false.
(D) Statement I is false but Statement II is correct.
(E)  Question not attempted

YTl : ;
el @l T A Y S@HE | i @l fafaat % arer fawn %waﬂﬁmwwﬁﬁal

EREN I

aﬂ%rquﬂmﬁwmqﬁawﬁaﬁwﬁﬁﬁmqaﬁ*%a‘r%swawgaﬂéﬁaq@r%sqﬁr
feramesier

SUYH HA b Y1 H, A e et F @ wE T G
(A) = B I Td 1EE ¥

(B) i %o« [ wg 11 Taq & |

(C) &UT 1T ¢ fohrg e 1171
(D) &I 7@ § g o 1R 7

(B) oraia ued

Given below are two statements :
Statement I :

'Dhamma’ is the Prakrit form of the Sanskr
law or righteousness or, by Social Exlensl,w
Statement IT : £ k
The term 'Dhamma’ was propogated b
propogating it. y st

In the light of the above statenients, chipose the correct answer from the options given below:
(A) Both statements I and IT &g trugé

(B) Both statements I and 1
(C) Statement I is corgs

(D)

'Dharma’, meaning according to the context, the universal
itd Religious order as found in Hindu society.

5 oka for Buddhism when he adopted the same and started

(B) a‘ﬁ“raiervr I T 1177t 21

o 1981 & foheg & 11 7Tea 8
B | T & febeg e 11 ERT B

HTART U
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Given below are two statements :
Statement I :

The Ulema were Muslim the ologians who provided and interpreted passages from Quran? ultan was
required to show respect, at least ostensibly, for Islamic institutions and pre-eminently td the? ulemas This
involved the granting of endorsement to religious causes and offices to the ulemas, bulldlng of m@sque etc.
Statement 11 : %

The Ulema were concerned only about the religious aspect and had no voice in pohtlcal m tters

In the light of the above statements, choose the correct answer from the option:
(A) Both statements I and II are true.

(B) Both statements I and II are false.

(C) Statement I is true but Statement II is false.
(D) Statement I is false but Statement II is true.
(E)  Question not attempted

T A HA R RE

CEH N

ST JRAH TR & T O W SH01 T & | G| mﬁ%ﬂ‘@mﬁ@m@rmmm
wwmaﬂ%aﬁwqﬁﬁélsﬂﬁaﬁmwﬁ@maﬁ , ARSTe 9= oTfE & Yot &
gy o anfire ot

EREN I

(A) a‘m“raxa:rlq—crna%“r%l
(C) &UT 1T ¢ fohrg e 1171

(B) oraia ued

Given below are two statements:
Statement I :

(A) Both statements I
(B) Both statements I
(C) Statement I 1 i3 correc

(D)

ﬁ%ﬂmﬁ'mwmﬁw%mlw AT SO, T T, AT Geblel’ 6 ®9 H QT 9uie (|

AT Beit 2 e A, S R et § & wd g b1 e ahifg
(A) g wu L TE 1w R (B) Y o 1 0g 11 7ed ¥
%) #e 1 FE ¥ fieg % 11 e & (D) e I 7T & Fg e 11 @@ 3

(E)  srafd ued
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :
The Europeans denounced the Indian civilization and culture. They described it as backWa
and orthodox. B
Reason R :
In the early 19t century these was been interest in studying the classical language and teratur&’of India. A
number of scholars took to Indology and one of them was Maxmuller. ; %
In the light of the above statements choose the correct answer from the options
(A) Both A and R are correct and R is the correct explanation of A. '
(B) Both A and R are correct and R is not the correct explanation of A.
(C) Ais correct but R is not correct.
(D) A is not correct but R is correct.
Question not attempted

?ﬁ%ra“ra;aﬂﬁ%r% HWWWA%EWﬁGﬁTBWWR%EWﬁF%I
\‘ﬂﬁFF%FIA

FRR :
19Eﬁsm§?r%59ﬁwﬁwa?rswsﬁﬁwqﬁﬂr%wwa{m#a{ﬁ':fﬁ%rrérgqé?rlars‘%ﬁ%ﬂmﬁm
I feram ot 79 e Frea o '
ST HAAI & GBI |, T & forehed! | WE1 I H g
(A) AT RIA T € TR, A &l 981 AT 8|
(B) ATH RIM & ¥ UTG R, A & W AT T
(C) A¥dE % g R )
(D) ATWA § fhg REA B

(B) oraia ued

Given below are two statements: one is lap€llcid as Aésertion A and the other is labelled as Reason R.
Assertion A :
Indian National Congress was started b
Lord Dufferin, the viceroy.
Reason R :

The Indian National Congress wa to proyidé a mild, safe, peaceful and constitutional outlet or safety value

. Hume under the official direction, guidance and advice of

In the light of the above statentents, cheose the correct answer from the options given below:

(A) Both A and R are trug: and® R~Js~the correct explanation of A.

(B) Both A and R are tgi R is NOT the correct explanation of A.

(C)  Ais correct but R¥1$u coptect.

(D) A is not correct.but R 1§:gdrrect.
Question not attempted

AMURITA
TG AIE &

@Rﬁw%@R,AEﬁF@W%I
ATd R I G & UGG R, A B T8 A T B
A T T fbeg R 1@ T

AT & fFg R 9 31

(B) oraia ued
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :

The 'Doctrine of Lapse' formulated by Governor-General Dalhousie disregarded the right gt ari adopted heir
to the throne and the state automatically lapsed into British dominion if the ruler died without 4ny Biological
natural heir. :

Reason R : .
The Doctrine of Lapse was one part of Dalhousie's programme of bringing a unified {nds4 under strict
control by doing away with alternative sovereigntics held by Indian rulers and pringes. %
In the light of the above statements, choose the most appropriate answer front, the op 'ons given below:
(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R is NOT correct explanation of A.
(C) Ais correct but R is not correct.
(D) A is not correct but R is correct.
(E)  Question not attempted

TR ey qaﬁaﬁmaﬂA%swﬁaﬂTWWR%sw
AMHFITA
TAA—STRA SIS A ‘U & R’ &Y Tl & SAUTIHI &6 S a?raa%ammsr%uﬁaﬁﬁm%lﬁﬁ
smwmﬁwwsﬁmm%sm#raﬁéwﬁaﬂmwﬁéﬁ%%mmsﬁ%l

SUE HA! & T |, T A fowedt @ w8 o a1 g
(A) AUdRIN T@ ¥ d R, A &I GEI AT
(B) AQE[R@H“{W%WRAE@[E%QI
(C) A¥E % g R )
(D) AT oy R & )

(B) organa 9sd

Given below are two statements :

2 ¢lled as Assertion A and the other is labelled as Reason R :

(A)
(B)
©
(D)
(E)

AHE A 5 WWWWWWWW
FT R TEAT DI FIT GHEF—T— T Bl TSN GaTTEs SRGLS qistan Tgsil, Te1 | Sed
%.-,

AB Aﬁﬁ%RﬁW%aﬁTR’AEﬁﬂﬁmﬂ%ﬁ%l

A T T AR R o8 ¥

':E(D A 39 T WikT RO &1

(B) oraia ued
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86  Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The decline of the Maurya Empire started after Ashoka.
Reason R :  Ashoka followed the policy of Dhammavijay and disbanded his army;/ '
In the light of the above statements, choose the most appropriate answer from the options given:below :
(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R arc corrcet and R is NOT correct cxplanation of A.
(C) A s correct but R is not correct.
(D) A isnot correct but R is correct.
(E)  Question not attempted

T Y e Rw ¥ QwaﬁaﬁwmAaﬁTwaﬁWR%ﬁwﬁﬁ%ﬁﬁm
AMEH A R ST B UAE ST9E & S8 TTLH & T W
FTR msﬁm%amﬁma&r%wwﬁwﬁaﬁ%ﬂﬁrﬁamﬂl
U HA % TS ¥ g faw T famedl § dad Suga ST B 9T B
(A) A3 RI T T 3T R, A &I T& AT T

(B) AR RIA ¥ TR, A & G2 <A1 T 5 |
(C) A 9™ T BT R 18 3|

(D) A 3™ T AfhT REA )

(B) oraia ued

87  Which one of the following throws light on the Lakulishd P hypat Sect?
1. Coin of Huvishka ., Mathyta inscription of Chandragupta II
3. Maltimadhav of Bhavabhuti Ashtadhyayi of Panini
5. Kadambani of Vanbhatta
Choose the correct answer from the options glv

(A) 1,3,4 (B) 2.3,4 D) 1,2,4,5
(E) Questlon not attempted
Freferferd & & HrET O TP TYTT G, T THT ST &
1. gfas®s & gan TE & @ w3 At
3. HEMfd & ArdEEa wIfeT % ereeEaTy
5. AITHE Wl BrEEl
T faw Ty feedl # @ w8 I
(A) 1,3,4 1,2,5 D) 1,2,4,5
(B) oraia ued
88  Which of the following is/dre trug out the Virupaksha-Pampadevi of Vijayanagara?

d d@ne penance to marry Virupaksha.

2. The Vijaynagara;rulers:g imed to rule on behalf of Pampadevi.

3. The patron deity ¢ ayanagara Kingdom was Vlrupaksha

4. Normally, theipame of rivirupaksha was mentioned in the Kannada script in the royal orders.
5. Vlrupaksha was“a.fofm of Vishnu.

Choose the coriect answer from the options given below :

A 1,2,3 B) 2,3,5 ©) L1,3,4 (D) 2,34

(E) Quegtlon not attempted

festamrAp Tpara—wmaredt % It o Frafafaa & 9 & a8 o 3/F ?

1.  Matridevi Pampadéy;i

e fereare @ forare % fg qu @ &)
% I TR Bl SR Y I B I el B o |
T o % GR& Jadl feane o |
AT USTHI AR § d=re ot o difersarer & w9 @1 Sed erar o1
Teremar e &1 U w9 o |
fortr T et W & WA AL H TIT B
1,2,3 B) 2.3,5 (C) 1,3,4 (D) 2,3,4
HTART U

41 P.T.O.
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Given below are two statements :
Statement 1

Ganesh Shankar Vidyarthi had written in ‘Pratap’ that “If Maharana Pratap had been in g her country
except slave India, you would have been worshipped all over the country. If you weré i rica like
Washington or Lincon, if you were in England like Wellington or Nelson, if you were,in France, yOu would
be worshipped like Joan of Arc or if you were in Italy you would be worshipped li i Mizzini.”

Statement 11
Ganesh Shankar Vidyarti used to bring out a magazine named ‘Pratap’ from Ra_;asthan :
In the light of the above statements, choose the most appropriate answer from the Gpti
(A) Both Statements I and II are correct.

(B) Both Statements I and II are incorrect.

(C) Statement I is correct and but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.

(E)  Question not attempted

A A po few M ¥
wYA 1 : p
TOYST gfeB feremell 3 ‘warw’ # fer ot e ¢ HERION YAy A AT WX Dl Bigeb{ o7 bl W1 9 H Bl
AN YL AT H ST IS Bl | Al S ST W B A AR el i qTe, AR ST gvs § B @
ATt A1 e B qLE, AL AT BT H B A ST AT ATeh-gh) e A1 A 87 3edt # B af AT A awe
SFTae! I Bl
® 1 :
1915 # ok it Rrell e & ‘e’ T a
SURE BT % el W A Rw T ferebedy §
(A) T BUT 1T 11 9T & |

(C) ®uT 19 ¥ 3K B I 319 T |

(B) oraia ued

Given below are two statements :
Statement I

In spite of opposition from J 1nnah..:
Legislative Councils. ;
Statement 11

Sir Syed Ahmed Khan had

;21 @ T I e ¥
B) ®UF I 39T T 3T BT 11 9 T

7»*39, the Congress did not stop singing ‘Vande Mataram” in the

(A) Both Statement§ T and
(B) Both Statements I and" IT are incorrect.

©

ﬁt feier % Tee[E ®iE 7 fqam aiwel § ‘2 AT @ e 1 BrEl

1&-3TeAe @1 < ®el o7 o ‘Ued 9% Hig & [0 @2 o, o 9% 9 B Uhdn & freg @A
;,mﬁ%mﬁ%mmﬁwﬁﬁmwwww%@

(A) 3 o T 11 9 B (B) 2 wo 174 11 3 ¥

% 1 9 & Al wed 11 o | (D) ®uA I 319 & @feh ®oe 119 3|

(B) oraia ued
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Given below are two statements :
Statement I : Kanishka built a Stupa and Vihara at Peshawar.

Statement I  : In the excavations of Stupas and Viharas of Peshawar, idols of Buddha:;sand;;:Kangshka are
found and not of Indra and Brahma. '

In the light of the above statements, choose the correct answer from the options gi
(A) Both Statements I and II are true.
(B) Both Statements I and II are false.

(C) Statement I is true but Statement 11 is false.
(D) Statement I is false but Statement 11 is true.
(E)  Question not attempted

I 3w g M R
FHEIT ;BT A UMET A UH WU i foer sam)
FAI : Y9TER & U o} fer &1 garg ¥ g oK s
SO AT % oferd | T Ry Ty fwmed w8 S @ T
(A) T BUT 1T 11 9T & |

(B) 3 & I Tg I e )

(C) %7 19 & ATt %A 11 318 3|
(D) ®UA 1 39 & Wb B [T T

(B) oraia ued

i forerd ¥ = B €% o e &1

Given below are two statements :

Statement 1 : Kanchi was the fameus city:¢t South India, center of education and capital of Pallavas.

Statement IT : Kanchi's famous’ scholaks - Mayuravarma, Vatsyayan, Dingnag and HienTsang-were

e e 1 e 11 oae € |

() o 1T ¥ A T 1 o ¥
(D)oo T ST & ARRT Ho 116 3

(B) oraia ued
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Given below are two statements :

Statement I : Aurangzeb had constructed the Kuwait-ul-Islam mosque by demohshm' Chintamani

Temple.
Statement II  : Qutbuddin Aibak got the Kuwait-ul-Islam mosque built in Delhi.
In the light of the above statements, choose the correct answer from the options gi
(A) Both Statements I and II are true.
(B) Both Statements I and II are false.
(C) Statement I is true but Statement 11 is false.
(D) Statement I is false but Statement 11 is true.
(E)  Question not attempted

I 3w g M R
FAIT SO A A G #@ deet FIa-sa-s@m
FAIL : HYIEN U A ol W paq-sa-—gem qisr wy it
U HA b oTdd | 1 fw 1u fadet & w8 ST &1 auta
(A) T BT 1T I T T

(B) Y e 1Td 11 o1 ¥

(C) %7 19 & ATt %A 11 318 3|
(D) ®UA 1 39 & Wb B [T T

(B) oraia ued

Given below are two statements :

Statement 1 : The temples of Vlru a
Vijaynagara.

santl Pampadevi were built by choosing a beautiful place like

Statement 11

s 4 GG I Bl g [aeue & qarRdl & 9y S R ™ 91
_ W%sm%@mﬁmmaﬁaﬁm ﬁﬁﬂ‘cﬁﬁﬂﬁﬁ?@%mﬁﬁzﬁ%ﬁﬁﬁml

' o 174 11 319 E)
Ho 1 9 & AR B 11 818 ¥
HU | T & e w11 T B

(B) oraia ued
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Match List - I with List - I1.
List - 1 List - 11
A.  Composition of Basant Vilas in Sanskrit I Raghunath
B.  Translation of Bhagvatgita into Bangla II.  Udayraj of Gujarat

C.  Composition of Tapathisambaranamu III.  Maladhar Vasu
Upakhyanamu

D.  Creation of Muhurtamala, a treatise IV.  Gangadhar
on Muhurta

A - 1 %1 & - 11 % &r e &g |
-1

A EGd ¥ F97 [Gar B A I

B.  wa@iar &1 S # Sgae 1.

C.  GUaq={TY UrEdrTy & Tl 1.

D. & "9l da ggaarer sl @ V.

Choose the correct answer from the options given below

T T T fqeedt § 9 @& SO & 99T B

A1, B-1, C-1V, D-T
11, B-IV, C-IIL, D-I

(A) AL B-IIL C-IV, D-I
(C)  A-IV, B-L, C-IL, D-III
(E)  Question not attempted / STTANT TT

Match List - I with List - I1.
List - I (Characteristic) ,
A.  Description of Indian Trade aj

List - II (Foreign Traveler)
Manucci

II.  Bernier

III.  Barbosa

B. Visited India six times

IV. Tavernier

A - 11 (faef awh)
I A
I SR
' . &
i SR e @ B dehs v, Faff
ffie correct answer from the options given below :
T T fehed! W & Wl 9 I T A
“A-L B-IL C-IV, D-ITI (B) A-IIL B-I, C-IV, D-II
A-TV, B-1, C-I1, D-II (D)  A-IIL B-IV, C-I, D-II

(E)  Question not attempted / STTANT TT

1421 0 45
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Statement I :

In 1866 Dadabhai Navroji organized the East India Association in London to discuss Indian questions to
influence British Public opinion. Branches of the Association were organized in major Indla 1 citles.
Statement 11 : ®
He showed that the poverty and economic backwardsness of India were not inherent ja-lgcal condltlons but
were caused by colonial rule which was draining India of its wealth and capital. ~ #
In the light of the above statement, choose the most appropriate answer from the optlon
(A) Both Statements I and II are True.

(B) Both Statements I and II are False.

(C) Statement I is correct but Statement II is False.
(D) Statement I is incorrect but Statement 11 is True.
(E)  Question not attempted

CX N I E
1866 H STaTHT HRISH 3 Ta W 56 3an TR a1 a1 sl et 3g9n ffest Sar &l 9 qei &
T ST BT 1| 50 TR & H3 g AR & Wd 78 YAl T Lo

1 :
I I AT Toh 9 &l TN SR ST TUseme 9 & TS ¥ arried w8l | Sih 98
sftafrafites e @1 afom o frees Zr wRa 9 g9 qu%wra‘l%-vrgaﬂ |
Wwﬁ%wﬁﬁ%%ﬁm%ﬁﬁ%mmw‘ g

(A)  ®UA I ST 11 I 981 B a‘m“ra;a:rlaﬂﬂlm%l

(C) %o [ 98I & Wfee ser 11 Ted ) 1 1 7TAd & e ®oe 11 98l 3|

(B) oraia ued

Given below are two statements : one 18 1 belled as Assertlon A and the other is labelled as Reason R.
Assertion A :

iven below :

Reason R :
He urged the working class to pla. $gglg-n the anti- -imperialist struggle.

In the light of the above stateménts, choose the most approprlate answer from the options given below :
(A) t
(B)
(©)
D)
(E)  Question not gt mpted

< 3 He g MY ¥, A e SR R #rm ¥
FATA :
TR 1933 § SR TTR Sl 1 9ol T WA W STaTey A1 1686 + A1 Td T Harslt bl Rl sar
R AT H A forelt T @ off T @ T

VT T o e | i ol Ty foehedt § @ gy @i @ g -
TF R 2 |21 ¥ ot R, A &1 &1 e &ea

A ofit R 3T @1 ¥ ofiT R, A @ @) =amean =T el ¥

A @ ¥ AfteT R Taq ¥

" ATTa ¥ ARt R E@E E

HTART U
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99  Subsidiary alliance was a system devised by Lord Wellesley in 1798. All those who entered into such an
alliance with the British had to accept certain terms and conditions. "
1. The British would be responsible for protecting their ally from external and interﬁﬁl ,@a.ts to their
power.
2. In the territory of the ally a British armed contingent would be stationed a ally Would prov1de
resources for their maintenance. %
3. The ally would enter into agreements, with other rulers or engage in Warf
of the British.
4. Ally may walk away with the alliance anytime at the disagreement.
Choose the correct answer from the options given below:
(A) 1only (B) land2only %
(C) 1,2 and3 only (D) 2,3and4 only
(E)  Question not attempted
1798ﬁaﬁéﬁmﬁmmaﬁ1mﬁwwmﬁﬁﬁ%ﬁwaeﬁﬂﬁ 3 Eﬁrﬁ ST gU, S F® from Td
STt AT U P
1. mﬁamﬁmﬁr&raﬁa@@mﬁ?ﬁ@aﬁ@rgww 'sgfés%qaamé%sﬁl
2. WA % & A uw Ry qer aw ST foRa SO Rt TaT b SEeE qeant e |
3. wEar el o= e 3 T G a1 g e st B ergaar % T @
4. Wﬁﬁ%ﬂﬂ%ﬁ“ﬁiﬁiﬁ’ﬁﬂﬁ@fwﬁ~w%l
o g e ¥ Y E S m mE B
(A) waw |
(C) haw 1,233
(B) oraia ued
100 Match List I with List II.
LISTI ~= LISTII
A. Setting up Supreme Court af Calcu I 1793
by East India Company !
B. Cornwalis code enacte . 1774

C. Railway line between Bomba' and Thane  III. 1881

D. Madras Harbour ’ IV. 1853
Choose the correct answ; options given below :
(A) A-L B-II, C-III, (B) A-IIL, B-II, C-1V, D-1
(C) A, B-, C-I (D) A-II, B-L, C-III, D-IV
Question not

T I

I. 1793

L 1774
I 1881
V. 1853
g T el & w8 ST 1 A BIRT -

A-L, B-II, C-III, D-IV (B)  A-IIL B-IL, C-IV, D-I
A-IL, B-I, C-IV, D-II (D) AL B-I C-III, D-IV
(B) o v
1421_0 47 P.T.O.
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